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Please note that these worked solutions have neither been
provided nor approved by Pearson Education and may not
necessarily constitute the only possible solutions. Please
refer to the original mark schemes for full guidance.

Any writing in blue indicates what must be written in order to
answer the questions and get the marks. The worked
solutions have been designed to show the smallest amount of
work which needs to be done to answer the question.

Anything written in green in a cloud doesn't have to be

written in the exam.

Anything written in orange in a rectangle doesn't have to be
written in the exam and is there to show what should be put
into a calculator or measured using a ruler or protractor.

If you find any mistakes or have any requests or suggestions,
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.
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1 Write ﬁ as a decimal.

| Type into calculator and press the SD button|
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(Total for Question 1 is 1 mark)
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2 Write down a multiple of 6 that is between 40 and 50
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6 x 4 = 24 so 24 is an example of a multiple of 6. We could
count in sixes until we reach a number between 40 and 50
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3 (a) Simplify 3f x 5g el

Multiplication can be done in any order so 3 x 5 can SIS
be done first. Then the result is multiplied by f and g S
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Squared means multiplied by itself
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(c) Simplify 2"+
Add 2n and 6n then divide by 2
1)
(Total for Question 3 is 3 marks)
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4 Ken buys some fruit.

He buys apples, bananas, peaches and oranges.
Ken buys

4 apples weighing 125 g each
2 bananas  weighing 170 g each
3 peaches  weighing 135 g each

Each orange has a weight of 90 g.
The fruit has a total weight of 1.785 kg.

(a) Work out how many oranges Ken buys.

Convert the total weight into grams as the other weights are given
in grams. There are 1000g in 1kg. Subtracting the weight of 4

,
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apples, 2 bananas and 3 peaches leaves the weight of the oranges
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S Jane wants to buy 15 tomatoes.
SO She asks for 1 kg of tomatoes at a shop.
SIS Jane assumes that each tomato has a weight of 75 g.
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(b) (1) If Jane’s assumption is correct, will she get 15 tomatoes?
You must show how you get your answer.

SeSetedes
£S5

o
Srtaseseiosetetetolel

<
ot
%5
%%
5%
atssatetetetelere!

Convert 1kg into grams so the units are the same.
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Then work out how many lots of 75g go into it
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(i1) If Jane’s assumption is not correct, could she get 15 tomatoes?
s Justify your answer.
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Jane's assumption was that each tomato
L has a weight of 75g. Ignoring this means
Qs that the tomatoes could be any weight
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5 60 students were asked how they get to school.

The table shows the results.

Bus Walk Car Bicycle

Number of students 15 27 12 6

(a) What fraction of the 60 students did not walk to school?

Work out how many students didn't 5
walk then put it as the numerator
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(b) Complete the pie chart for the information in the table.
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There are 360 degrees in total in a pie chart. Dividing this by the total
frequency works out how many degrees represent one person. Then
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(Total for Question 5 is 6 marks)
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6 Annie and Lily share some money in the ratio 4 : 3

(a) What fraction of the money does Lily get?

There are 7 parts in total. 3 out of these are for Lily

Rosie and Dan share some sweets.

Dan gets 1 of the sweets.
4

(b) Write down the ratio of the number of sweets Rosie gets to the number of sweets Dan gets.
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Dan gets 1 out of a total of 4 parts
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(Total for Question 6 is 2 marks)
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7 Steve says,

%
5% “There are more prime numbers between 20 and 30
S than there are between 10 and 20”

s Is Steve right?
S You must show how you get your answer.

Prime numbers only have two factors: themselves

S and 1. List the prime numbers between 10 and 20
S then between 20 and 30 to see how many there are
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8 Chrissy drew this graph to show the percentage of buses that got to a bus stop on time
for six months.
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(a) Write down one thing that is wrong with the graph.
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9 Here is a map of an island.

Diagram accurately drawn

Backley

Cremford

Scale: 1 cm represents 0.5 km
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o s A straight road joins the two villages, Backley and Cremford.

SRS (a) Work out the real distance between the two villages.
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i Measure the distance on the map in
SO centimetres using a ruler then multiply it by 0.5
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(b) Find the bearing of Cremford from Backley.

s The number of degrees turned clockwise o
from north to face Cremford from Backley ) s
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10 The diagram shows two shapes drawn on a centimetre grid.

(a) Find the area of shape P.

Area of triangle = 1/2 x base x height

(b) Write down the mathematical name of quadrilateral Q.

(Total for Question 10 is 3 marks)
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11 The table shows a cricket club’s income in 2016 from a fete, a quiz and membership fees.

Income

Fete £250

Quiz Entry fees 13 at £5 each
Refreshments £35

Membership fees 25 at £20 each

Express as a ratio

the income from the fete to the income from the quiz to the income from membership fees.

Give your ratio in its simplest form.

Work out the income from the quiz. Work out the
income from the membership fees. Express the ratio

in the form income from fete : quiz : membership fees.
Simplify the ratio by dividing all sides by the same
amount until they can't be divided any further
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o0
%

%

5
5
‘oetelele!
RS
CRLLKLS

<
SRS
1'%
0o
%

R
=
X

A
B
S
SR

<
%5

o3l
\]

P

=L
batotorse
S
fogeL " ¢

<

X
el
ate
%

%
o
S,

902909,
2%
PIXd
o
%

0
foteee:
FE]
& 16.‘
T

5

poteieolele
IRLTE
Jeos 0t
R A

9%
Loty
£}
Brd
it

O
el
Q)]
%ﬁﬁo
R

\

"

<

XK

LKL
DO
LX)
s

<
oot
o
552
%

<
2
Sode!
<255
KKK

oo

o
b
9%
)
st

Q0

<

0o
3

535

odeleletolole
Sotatedelesotetsl
sgéggg“’

SSotodedel

<

00
XX

CCIRAK

IR

%

J

%
2
5

9

oCG MathS. Turn over »



(

J
o
‘%%

0
SRS

12 200 people live in a village.
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23 people do not have a garden. 1
10 males do not have a garden. ”éi
95 people are male. .:%:,',
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(a) Use this information to complete the frequency tree.
not have a garden

1. 23 people do

not have a garden male

do not have a

q female
garden
do have a
garden male
female

2. So the rest of the

200 have a garden

3)
One of the people who does not have a garden is chosen at random.

(b) Write down the probability that this person is female.

Express the number of females who do not

have a garden as a fraction of the total
number of people who do not have a garden
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13 Ellie makes hats.
She makes at least 17 hats per hour.
She is paid 46p for each hat she makes.

Reaze is a waiter.
He works 35 hours and is paid a total of £266

Show that Ellie’s hourly rate of pay is more than Reaze’s hourly rate of pay.

Work out the minimum amount Ellie earns each hour

(this is when she only makes 17 hats). Work out Reaze's
hourly rate. All we need to do is show the two figures
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14 a and b are odd numbers.

(a) Give an example to show that the value of 2(a + b) is a multiple of 4

Substitute any odd numbers for

a and b. Multiples of 4 are any
number in the 4 times table

2

(b) Show that, when a and b are both odd numbers, the value of 2(a + b) will always be a
multiple of 4

odd + odd =

(2

(Total for Question 14 is 4 marks)
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15 Mr Page uses oil to heat his home.
At the beginning of November there were 1000 litres of oil in his oil tank.

Mr Page bought enough oil to fill the tank completely.
He paid 50p per litre for this oil.
He paid a total amount of £750

At the end of February Mr Page had 600 litres of oil in the tank.
He bought enough oil to fill the tank completely.
The cost of oil had increased by 4%.

Work out the total amount Mr Page paid for the oil he bought in February.

Every £0.50 paid is 1 litre of fuel. Working out how many lots of £0.50
are in £750 works out how many litres were bought in November.

LGRS

Adding the number of litres bought in November to the 1000 litres it
started with works out the full capacity of the tank.
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16 Solve 5x —6=3(x—1)

Expand the brackets on the right side. Bring all the x terms to

the same side. Eliminate all of the other terms on the side with
the x terms. Divide by the number before x to get x on its own

(Total for Question 16 is 3 marks)

17 Emily buys a pack of 12 bottles of water.
The pack costs £5.64

Emily sells all 12 bottles for 50p each.

Work out Emily’s percentage profit.
Give your answer correct to 1 decimal place.

Percentage profit = percentage change
= (new - original)/original x 100. The

new amount is what she sells them for in
total and the original is £5.64

(Total for Question 17 is 3 marks)
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18 Hasmeet walks once round a circle with diameter 80 metres.

There are 8 points equally spaced on the circumference of the circle.

(a) Find the distance Hasmeet walks between one point and the next point.

Circumference = 1 x diameter
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sk Four of the points are moved, as shown in the diagram below.
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{74 5 Hasmeet walks once round the circle again.
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(b) Has the mean distance that Hasmeet walks between one point and the next point changed?
You must give a reason for your answer.
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distance and the number is the number of points

S (Total for Question 18 is 3 marks)
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19 There are only blue cubes, yellow cubes and green cubes in a bag.

There are

twice as many blue cubes as yellow cubes
and  four times as many green cubes as blue cubes.

Hannah takes at random a cube from the bag.

Work out the probability that Hannah takes a yellow cube.

Write the ratio of yellow : blue : green. Let there be 1 part for yellow. .g{'
There are twice as many blue so there are ? parts for blue. There are
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four times as many green so there are ? parts for green. Then express
the number of parts for yellow as a fraction of the total number of parts
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Use tracing paper to sketch around
T then rotate the paper 180
degrees about the origin (0, 0)

(a) Rotate trapezium T 180° about the origin.
Label the new trapezium A.

-1
(b) Translate trapezium T by the vector

Label the new trapezium B.

-1 in the x direction and
-3 in the y direction

(Total for Question 20 is 2 marks)
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21 p?xp*=p’

(a) Find the value of x.

(72)y — 710
(b) Find the value of y.

100 x 1000” can be written in the form 10"

(c) Show that w=2a + 3b

Start by expressing 100 and 1000 as powers of 10 in the form 10"
and setting the expression equal to 10". The equation can be
' Once 10" is on one side

simplified using (a*)) =a¥and a*xa’ = a
and 107 is on the other, the powers can be set equal to each other

(2

(Total for Question 21 is 4 marks)

18

.CG Maths.

bosesesnses

XIS IIKX
SR
NCOA:
NI
SRR

Iy%e%e!
£S5

RN

1207650029565 %%

X
<
50K

558
Sosess
Soesete
odedetedes
<

OG>
4¢¢::
SR,
Sytodete
SRS

%
o5 %
%

Q

o
ﬁﬁzv«%o

) 65,8 L€ neees
0%

S

< g
SR
SIS
< ."‘ }“
S
oS
SRS
O o
S
KIS
SN,
KRR
kel
SIS
XN

o

o=
ey

SRR

R4
R

I
SO atatesetets
R
SO o= |
Solerotets,
boloteses



XL
e

O

2209085
Mol =,
‘RE
STk
5

255
bty
k]
X

<%
A
&
2

ORI G
Otatete et tet et ate el
Visy
MR
REEe
0%

SRR
LS
B

0

‘?w
5%

K
AR ILERRA

BEEES
SarossNtes

RELK5

Satutstereseteteretetetors
QLKL

e et te et tedetese!
SRR

&
fodoteses
<555
bogsses
S5
SRR
%

02

X X

053
.0

Loy
’0
‘0
[0
(9
:
&
(%S
‘0
.0
’0
.0
.0
‘0
00
.0
.0
‘0
oS
<
<

oS
SRR

<
%
RELL

%
<

<
L
NOY
TN
A

=5
505

I IIIAKIIHI
ol
XA
oo w1
S

20

25
oo
ot
3%

<
b2l

oS
0%

r

22 ABCD is a trapezium.

Work out the size of angle CDA.
Give your answer correct to 1 decimal place.

Pythagoras' Theorem can be used to find x as we have two
sides of the right-angled triangle ABE. a’ + b’ = ¢’. We can
then work out side FD by subtracting x and EF from 24.

Triangle CFD is right-angled so SOH CAH TOA can be used
to find the angle CDA

(Total for Question 22 is 5 marks)
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sin25° + sin40°
c0s25° — cos40°

23 Use your calculator to work out

(a) Write down all the figures on your calculator display.

[Type into the calculator]|

(b) Write your answer to part (a) correct to 2 decimal places.

Use the third decimal place to round the second decimal

place. Then ignore all the decimal places after the second

(Total for Question 23 is 3 marks)
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24 (a) Solve 2x2 =172

X'=34

Divided both sides by 2

Next, eliminate the square by performing the opposite

operation on both sides. There should be two solutions

(b) Expand and simplify (2@ 2)
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o (¢) Factorise x> + 6x + 9

A Find two numbers which multiply to give the constant
Oy (number not involving x) and which add to give the
55 number before x. Put these in the brackets with x
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